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Activity 3.62

Prisoner's Dilemma
Introduction: You have probably not played many non-zero sum games. There are no winners or losers in this type of game. Here is one popular game you might like to try.
Materials: 
· Internet

· Paper and pencils
Background:
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Lesson:

1. Divide into groups of two.

2. Imagine you are a prisoner in the above scenario. Study the outcomes from each. 

3. At the same time you and your partner write down your decision to confess or keep quiet. Place cards face down in the middle. Turn up at the same time and discuss what happens to each of you.

4. Repeat four more times and add the jail time for each player.

Extension: Try looking at the “Tragedy of The Commons” for another example.
Questions:

1. What would be the best scenario for both players?
Both go to jail for 1 year

2. Did you play the game differently after the first few rounds?
Yes

3. Could a player ever win or lose in this type of game?
Yes one could go free while the other gets sent for 10 years

4. Brainstorm another non-zero sum game and write down the basic rules. Share your ideas with the class.
The Battle of the Sexes is a simple example of a typical non-zero-sum game. In this example a man and his wife want to go out for the evening. They have decided to go either to a ballet or to a boxing match. Both prefer to go together rather than going alone. While the man prefers to go to the boxing match, he would prefer to go with his wife to the ballet rather than go to the fight alone. Similarly, the wife would prefer to go to the ballet, but she too would rather go to the fight with her husband than go to the ballet alone. The matrix representing the game is given below:
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